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[8] zlDfE
cCERBITBDVNWBINVWEL TR,
KA
x=10;
y=sin(3.14/6.0);

X (BEREEFZARVER)
x< 10

IR EET
X && 'y
(x>10) || (y <0)

*CEREICBWVWT TR RKiEZHD.
KA, KAULKEEREUEZSD.
- N, /REEERI,
BDIIBWES O,
D 3IIDigE 1 &B53%,

Xif3XPwhileXBZ EIREWT, 'HOBSHD LBV, OBADIBEIEMD LD & HIkT
LTW3,

O‘W)fﬁa) EEE*UFH?% &, UTOESBTATSLHETS.

a=b=c=d=5;
- X, GOEISIEICNEETNDS.
+d=5EWVWSHRARIE 5 EVWSEZHDDT, clclE5HRAETNS.
LD > T, IRTOEHDMEI 5 ICh3.

Fip(year)h 12F L EIF¥E(ryokin) 500, #hUTIF300HET 3.
ryokin=(year >= 12)*500+(year < 12)*300;
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[9] #ithgE (3)
1, breakX
» whileX, do~whileX, forX®IL—7H5 DEFIKLEEICAWS,

f5) int a,i;

for(i=1;1<100;i++){ ~9999/ AN EINDB Efor)l—THIRT T 5.

scanf("%d" ,&a);

printf("%d ¥n",a/2);

if(Ca == -9999)

break;
}
2, T—9D#EHLHDHE
c T=IDARICEWTT—5 DD D> TWBIHEE (forXXZfE > f=fl)
for(i=1;i<=5;i++){

scanf("%d",&a); // scanfZ5EIEEYIRT .

sum=sum+a;

}
s AN 37— DE#EL LI > TWEWESICIE?

(1) HBZIROIEEANDLERTTS. (FIZIE-9999%FANT B LTI B)
(2) *2ZANT3B ([ctrl&[z]ZRABICIT). *zBANT—F DO ZERT,

- scanfB#US, ™zHBANSENBEEOFEWVWSEZIERT ) LSICHE>TWS,

int dat,sum=0;

while(scanf("%d",&dat)!=EOF) scanf Tdat|ZEZ AF. scanfBIEID(E % LLE.

sum=sum+dat; Az TS (EOF T/ ) while)—TE L UiRT .
printf("Total= %d\n",sum); AT END (EOFETRD) Ewhile)b—TH

BTT5.
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3. AovYy

cEDESBTATILT, TAHULEER ZHDEVES, TAuV5y, #FIAT 5.
int dat, sum=0, n=0;

while(scanf("%d",&dat)!=EOF){

sum=sum+dat;

N++; /* n=n+l; THILN */
ks
printf("T—& DEE %d\n",n);
printf("T—F DEET %d\n",sum);

c ZDTATILD EHnZE THhovy (BH). LR, HHLBOXRTEIC, EHOD
[EZ 11BPI LT, ZONBZTHIEHZEHBENTES.
- BROEHENHS5DIITREL, —IRNICIEHRZERZAWS.

4, ZEN—T
« for3XPwhileXD#EDRL (JL—7) TR, -7 DRICESSICIL—-TZWnicZEI
—TZkBFEHTES. ThexAd (AMNFEE) &HWS.

5. #ERIL—7 (*XAKP135)
 LUTFTDforX, H&UwhileXZi&b5HEWIL—7. T T 3ICidbreakXZ{ES.
for( 5 5 ) RT T DEMEMNITN.

while(1) FEMEICHKI (1) LTWWAS.



